
    (DENG 1) 
Total No. of Questions : 06]              [Total No. of Pages : 04 
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DEGREE EXAMINATION, DECEMBER – 2016 

 First Year 

 ENGLISH (Paper-I) 

Time : 3 Hours   Maximum Marks: 70 

    SECTION-A                                        

               (Analysis Skills)                                     

 

Q1) a) Read the following passage and answer the questions that follow: (5 × 1 = 5) 

   Dasa explained the strategy he had employed to catch and seal the snake in the 

pot. Dasa had the glow of a champion. “Don’t call me an idler hereafter”, he 

said. After Dasa was gone, out of a hole in the wall a cobra emerged. The 

college boy remarked, “I wish I had taken the risk and knocked the water pot 

from Dasa’s hand, we might have known what it contained”.  

1) Why did Dasa have the glow of a champion? 

2) From where did the cobra emerge? 

3) How would the college boy have known what the pot contained? 

4) From which lesson is this passage taken? 

5) Who is the author? 

 b) Read the following passage carefully and answer the questions that follow by 

choosing the right answer: (5 × 1 = 5) 

  It seems like we can’t eat or drink anything these days without being told it’ll 

make us fat or cause cancer. We try to eat canned tuna  (a kind of fish) to eat 

less fat and we get mercury poisoning. We eat fruit and vegetables for the 

vitamins and fibre but the pesticides give us tumours. Farm-raised Salmon 

will give you swineflu. Whatever happened to the good old days when we got 

fat from eating too much cake and we got sick from overeating. Now I hear 

you can get cancer from worrying about getting cancer. 

  1) What is being told about the things that we eat or drink? 

    a) It’ll make us strong b) It is great 

    c) It can fatten and cause cancer d) None of the above 



 

  2) What are the advantages of eating fruit and vegetables? 

    a) It gives vitamins and fibre b) It has pesticides 

    c) It makes us fat d) None of the above 

   3) Name the disease you may get if you eat farm-raised salmon. 

    a) Poisoning  b) Swineflu 

    c) Tumours d) Cancer 

   4) How were the good old days? 

    a) We could overeat b) We got cancer 

    c) We worried d) We ate canned tuna 

  5)  Which word in the passage means ‘anxiety’? 

    a) Mercury b) Tumours 

    c) Worry d) Poisoning 

 

Q2) a) Correct the following sentences: (5 × 1 = 5) 

   i) Ruhi gave to me the ring. 

   ii) Where you are staying? 

   iii) Ajay is in army. 

   iv) The oranges are rich in vitamins. 

   v) One must do his duty. 

 b) Rewrite the sentences as directed: (5 × 1 = 5) 

   i) He wrote a book. (Change the voice) 

   ii) His father is a scientist. (Add a question tag) 

   iii) The boy said, “You can come tomorrow”.  

    (Change into indirect speech) 

   iv) Although the curry was salty, Amit did not complain.  

    (Change into a simple sentence) 

   v) Raja is the cleverest boy in the class.  

    (Change into comparative degree) 

  

 



 c) Change the following into direct speech. (2 × 1 = 2) 

   i) Seema told that She had washed the clothes. 

   ii) Grandfather asked me if I had eaten.   

 d) Fill in the blanks with correct forms of verbs given in the brackets.(5 × 1 = 5) 

   i) I ________ (go) to Pune tomorrow. 

   ii) There ________ (be) many students in this class. 

   iii) She ________ (go) to the gym everyday. 

   iv) He ________ (give) me a toy. 

   v) When I ________ (sleep), the doorbell rang. 

  e) Fill in the blanks with suitable words given at the end of the list. (5 × 1 = 5) 

   i) The girl ________ as the curtain came down. 

   ii) I look forward to ________ from you. 

   iii) The new technology is ________ to the old one. 

   iv) I don’t mind ________ my room. 

   v) We ________ to eat out tonight. 

    (hearing, bowed, sharing, plan, superior) 

 f) Rewrite the following set of jumbled sentences to make them into a coherent 

passage: (3) 

  i) Your subconscious mind is the seat of your emotions. 

  ii) There are two levels of your mind, the conscious and subconscious. 

  iii) It is the creative mind. 

  iv) You think with your conscious mind. 

  v) Whenever you habitually think, it sinks into your subconscious mind, 

which then creates according to the nature of your thoughts. 

 g) Write a dialogue between a customer and clerk regarding reservation of a 

room.  (3) 

 h) Write a paragraph using the following hints: (3) 

  Reading hobby – good and bad books – books as best companions – they 

entertain and educate – guide and make life richer. 

i) Write in about 100 words on any one of the following: (3) 

  i) My ambition ii) Punctuality 

  iii) Cricket in India    



 SECTION-B                                        

                                    (Descriptive skills) 

Write an essay on any One: (1 × 5 = 5)  

Q3) a) Sketch the character of the thief. 

 b) Narrate ‘A snake in the Grass’ in your own words. 

 c) Write a note on Magda and her family. 

 

Q4) Write about notes on Any Three of the following: (3 × 3 = 9)  

 a) Write an appreciation of Walker’s ‘Go Lovely Rose’. 

 b) Describe Masefield’s advice in ‘Laugh and Be Merry’. 

 c) How does the train leave the station? 

 d) What is the central idea of the poem, ‘Piano and Drums’? 

 e) What are the thoughts expressed by the poet in, ‘Sonnet to Science’? 

Q5) Write an essay on One of the following: (1 × 4 = 4)  

 a) Narrate the story of ‘God Sees the truth but waits’. 

 b) Justify the title, ‘The Open Window’. 

 c) Describe the pathetic condition of the refugees. 

 

Q6) a) Explain any Two of the following: (2 × 2 = 4) 

  i) I can answer in one word. It is victory. 

  ii) I have learnt from experience that I am not wise enough to advise others. 

  iii) She’s coming over here to study? 

 b) Explain any One of the following: (1 × 4 = 4) 

   i) And then it is done. 

   ii) And filled them full with the strong red wine of his mirth. 

● ● ● ● ● 
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Q1)  D “Mìü…¨ ç³§éÅËÌZ JMæü§é°Mìü {ç³† ç³§éÆæÿ® ™é™èþµÆ>ÅË$ {ÐéÄ¶ý$…yìþ. (6) 

 a) „îüÆ>…»Z«̈  Ð@þ$¤…_ ™é¯@þ$ Væü–ç³™ø XÆ>Ó×ý Møsìý¯Œþ çÜ$«§é 
  ç³NÆæÿ {ï³†Væü— gôýíÜ¯@þsìýt ^ðþË$Ð@þ…º$… lç³#¯@þsìýt…ç³#V> 
  ¯éÆæÿ… V>—W @̄þ ´ëË Ò$—VæüyæþË$ çßýÝë¢º›j…º$Ë… §óþÑ Î 
  ÌŸÆæÿÐ@þ$Å…º$Væü— §øyìþ »êË$ÆæÿMæü$ ¯ðþËÏ… »ñýsìýt ™é¯@þ$… Vö¯@þ$¯Œþ. 
 b) Ñç³È™èþ {ç³†¿êçÙ ÌôýÑ$sìýMìü ¯@þ$ÈÓ¯é£æþ ÆÿÊ ç³#[™èþ¢V> 
  {™èþ ç³ÇçÙÓ…Væü çÜ$Q…º$ õÜMö¯@þ$Ð@þ¬ Ð@þ¬M>¢àÆæÿ MæüÆæÿ*µÆæÿÝë… 
  {§æþç³Æ>Væü {ç³çÜÆæÿ…º$— f…§æþ¯@þÐ@þ¬— f…{§æþ gZÅ™èþÞü ²Ä¶ý¬… º$[™èþ¢V> 
  {™èþ ç³ÇçÙÓ…VæüÐ@þ¬¯@þr$Ï iÐ@þ#ËMæü$ çßý–§æþÅ…»ôý Mæüyæþ$¯Œþ Ö™èþÐóþ$. 
Q2)D “Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü, ‘B’ ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂçÜíßý™èþ 
ÐéÅQÅË$ {ÐéÄ¶ý$…yìþ. (4 × 2 = 8) 

A & ¿êVæü… 

a) ™èþç³µ— ºË$Mæü¯@þVæü$¯ðþ «§éÇÃMæü$ËMæü$ 
b) A‚ýÌôýMæü ò³¯@þ$ è̂þ$ ™èþÆæÿ$×ìýÄ¶ý$ M>§ðþr$Ï ™èþÍÏ ™é¯@þ$. 
c) ÐéÆæÿ$ {»êçßýÃ×ý$Ìñý Äôý$MîüOyðþ¯@þ OòÜÇ…ç³Væü¯Œþ. 
d) Ð@þ$Væü yìþ…Mæü ¯@þ¯@þ$² OòÜ è̂þ$¯ðþ. 

B & ¿êVæü… 

a) Ððþ¯@þ$Mæü ç³yìþ™óþ Ððþ¯@þMóü¯øÄŒý$. 
b) è̂þË$Ï yé…{«§æþ ÌZMæüÐ@þ¬¯@þ ¯@þ„æü™èþË$ ¯óþyæþ$. 
c) G…™èþ °ÆæÿÃËÐðþ*Æÿ¬ ± çßý–§æþÄ¶ý$ MæüãMæü! 
d) í³ÍMìü í³rtË$ Ðóþ$Í ÆæÿMæüÐ@þ¬V> Mæü*íÜŌ ðþ. 



Q3) D “Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü, ‘B’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ 
çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý$…yìþ (2 × 6 = 12) 

A & ¿êVæü… 

a) »ñýfj Ð@þ$à§óþÑ ÕÐ@þ#° {ç³çÜ¯@þ²Ð@þ¬ ó̂þíÜ Mö°¯@þ Ñ«§æþÐ@þ¬¯@þ$ ™ðþËµ…yìþ. 
b) Ô¶ýMæü$…™èþÌZ´ëRêÅ¯@þÐ@þ¬ÌZ §æþ$çÙÅ…™èþ$° ´ë{™èþ _{¡MæüÇ… è̂þºyìþ¯@þ Ñ«§æþÐ@þ¬¯@þ$ õ³ÆöP¯@þ…yìþ. 

B & ¿êVæü… 

a) _Ææÿ$™ö…yæþ ¯@þ…¼ §æþ…ç³™èþ$Ë$ ç³ÆæÿÐ@þ$ÕÐ@þ#°Mìü V>Ñ…_¯@þ ç³Ç è̂þÆæÿÅË¯@þ$ õ³ÆöP¯@þ…yìþ. 
b) }Mæü–çÙ$~° »êËÅ “MîüyæþË¯@þ$ Ð@þÇ~… è̂þ…yìþ. 

Q4) D “Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü, ‘B’ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ 
çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý$…yìþ (2 × 6 = 12) 

A & ¿êVæü… 

a) Væü$‚ý<… gêçÙ$Ðé V>Ç ‘BÐóþ§æþ¯@þ’¯@þ$ Ð@þÇ~… è̂þ…yìþ. 
b) Ñ§éÓ¯Œþ ÑÔ¶ýÓ… Ð@þÇ~…_¯@þ Æ>Ä¶ý$ËïÜÐ@þ$. 

B & ¿êVæü… 

a) Væü$Ææÿgêyæþ ÐéÆæÿ$ {ç³»Z«̈ …_¯@þ §óþÔ¶ý¿¶ýMìü¢ Ë„æü×êË¯@þ$ õ³ÆöP¯@þ…yìþ. 
b) MæüÆæÿÛMæü$Ë §æþ$íÜ¦†° Væü$Ç…_ §æþ$Ð@þNÓÇ ÐéÆæÿ$ Ð@þÇ~…_¯@þ Ñ«§æþÐ@þ¬¯@þ$ ™ðþËµ…yìþ. 

Q5) D “Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ. (2 × 6 = 12) 

 a) C…¨Ææÿ Ð@þÅMìü¢™èþÓÐ@þ¬. 

 b) Mæü–çÙ~Ð@þÊÇ¢ ºËïßý¯@þ™èþË$. 

 c) M>Ë¡™èþ Ð@þÅMæü$¢Ë M>Ë… ¯ésìý Mæü$r$…º çÜ…º…«§éË$. 

 d) Ð@þçÜ$…«§æþÆæÿ ´ë{™èþ. 

 

 

 



Q6)  D “Mìü…¨ ÐésìýÌZ I¨…sìý° Ñyæþ©íÜ çÜ…«̈  M>Æ>ÅË$ {ÐéÄ¶ý$…yìþ. (5 × 2 = 10) 

 a) «§æþÆóÿÃ™èþÆæÿ 

 b) OòÜç³Mæü$¯ðþ² 

 c) Ð@þ$à¯@þ…§æþÐ@þ¬ 

 d) G´ëµr 

 e) Ðóþ×ýÐ@þsñýt 

 f) ™èþ¯@þÓ…W 

 g) ò³§æþª̄ @þ²  

 h) E™èþ$¢™èþ¢ 

 i) ò³Ë$ÏsôýsìýMìü 

 j) Ð@þ¬§æþªÆ>Ë$ 

Q7) D “Mìü…¨ ÐésìýÌZ I¨…sìýMìü Ñ“Væüçßý ÐéM>ÅË$ {ÐéíÜ, Ðésìý çÜÐ@þ*çÜ¯éÐ@þ*Ë$ ™ðþËµ…yìþ.(5×2= 10) 

 a) E™èþµÌê„ìü 

 b) ¯érÅMóüã 

 c) _…™èþ ð̂þr$t 

 d) çÜ{™èþP™èþ$Ð@þ#  

 e) Væü$yìþ Vøç³#Æ>Ë$ 

 f) VæüÆæÿÂ §æþÇ{§æþ$yæþ$ 

 g) òÐðþÄ¶ý*ÅÐ@þ#Ë$ 

 h) çßý–§æþÄ¶ý$ MæüãMæü 

 i) Mìü¯ðþ²Ææÿ ¯@þyæþMæüË$ 

 j) MæüuøÆæÿ “MìüÄ¶ý$ 
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    Answer the following  (2 × 10 = 20) 

Q1) a) Explain the condition of the people in the Kingdom of Dasaratha? 

   XeaWñ¶ amÁ¶o àOmZm§ pñWqV {dd¥UwV& 
(OR) AWdm 

  b) Explain in not more than 300 words the characteristics of a learned man according to 

Viduraniti 

   {dXþaZrVr à{Vnm{XVarË¶m npÊS>VbjUm{Z 300 {‘Vofw nXofw {dd¥UV& 
 
Q2) a) What was Parvati’s answer to the criticism of siva made by the celibate? 

   {ed{ZÝXm§ lwËdm nmd©Vr {H$‘~«drV?  
(OR) AWdm 

  b) Write the story of “Mritojjivana”? 

   ‘¥VmoÁOrdZ§ Zm‘monm»¶mZ§ {bIV?  
 
Q3) a) Explain the Favour done to the brahmin by Rajavahana. 

   amOdmhZH¥$Vm§ {ÛOmoàH¥${V§ {deX¶V& 
(OR) AWdm 

  b) Write the story of MVwa: eeH$: 
   “ MVwa: eeH$:” - B{V H$Wm§ {bIV& 
 
Q4) Answer the following with reference to the context. (4 × 4 = 16) 

  MËdm[a gg§X ©̂ {b{IV& 
a) eemg d¡ eH« g¶mo ‘hrn{V:& 
b) Ðï>§w e³¶‘¶moÜ¶m¶m§ Z {dÛmÞ¶ZmpñVH$:& 
c) {‘Ì§ Ûo{ï> {hZ[ñV M& 
d) AZmhÿV: à{Vdg{V Amn¥ï>mo ~hþ̂ mfVo& 
e) {d^mdar ¶Ü¶ê$Um¶ H$ënVo& 
f) eara‘mÚ§ Ibw Y‘©gmYZ‘²& 
g) bmoH$mo XþO©ZH$J¥H$mo ZmpñV& 
h) AnXoeoZ ‘hVm§ {g{Õ: g§Om¶Vo nam& 



Q5) Translate any two in to English or Telugu : (2 × 3 = 6) 

  íbmoH$ñ¶ Am§½b^mfm¶m§ AmÝY«̂ mfm¶m§ dm AZwdXV& 

  a) VoW gË¶{^g§YoZ {ÌdJ©‘Zw{Vï>Vm& 

   nm{bVm gmnwar loï>m BÝÐUm‘amdVr&& 

    

  b) ¶ñ¶ H¥$Ë¶§ Z OmZpÝV ‘ÝÌ§ dm ‘pÝÌV§ nao& 

   H¥$V‘odmñ¶ OmZmpÝV g d¡ npÊS>V CÀ¶Vo&& 

   

  c) à¶w³VgËH$ma {deof‘mË‘Zm Z ‘m§na§ g§à{VnÎmw ‘h©{g& 

   ¶V: gVm§ g§VVJm{Ì, g§“V§ ‘Zr{f{^ gánXrZ ‘wÀ¶Vo&&  

    

  d) A{‘Ì§ Hw$éVo {‘Ì§ {‘Ì§ Ûo{ï> {hZ[ñV M& 

   H$‘© Mma^Vo Xþï>§ V‘mhþ‘y©T>MoVg‘²&& 

 

Q6) a) Write the forms of any three in the other numbers of the given persons. (3 × 2 = 6) 

   Ì¶mUm§ BVadMZofw ê$nm{U {bIV& 

1) J{‘î¶{V 
2) ^dVw 
3) BÀN>m{Z 
4) dÝXVo 
5) ní¶Vw 
6) ¶wÜ¶o¶ 

  b) MVwUmª VÎm{Û^{º$fw ê$nm{U {bIV& (4 × 2 = 8) 

1) am‘oU 
2) YmVma‘² 
3) Jm¡: 
4) H$bñ¶ 
5) a‘m‘² 
6) ‘{Vfw 
7) H$d¶o 
8) ‘Yy{Z 



  c) Combine any four MËdm[a gÝYÎm (4 × 2 = 8) 
1) gwa + BÝÐ§: 
2) Cn + E{V 
3) dYy + D$h: 
4) Z¡ + AH$: 
5) Xodr + Amkm 
6) aËZ + AmH$a: 
7) Hw$d©Z² + Ed 
8) Z¡ + AH$: 

  d) Dissolve any three  (3 × 2 = 6) 

   Ì¶mUm§ {dJ«hdm³¶m{Z {bIV& 
1) erVmoîU‘² 
2) Mmoa^¶‘² 
3) AY‘© : 
4) àË¶h‘² 
5) H¥$îUgn©: 
6) amOnwéf: 
7) MH«$nm{U: 
8) Hw$å^H$ma:  

��� 
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Q1) {H$Ýht VrZ H$s gÝX ©̂ g{hV ì¶m»¶m H$s{OE& (3 × 3 =9) 
a) {Og g‘mO Ho$ bmoJ AnZr PyR>r àe§gm g‘OH$a àgÞ hmoVo h¡, dh g‘mO H$s àegZr¶ Zht g‘Pm 

OmVm& 
b) ^maVr¶ gm{hË¶ H$m EH$Vm H$m AmXe© gX¡od h‘mam amï´>r¶ EH$Vm Ho$ {bE Aj¶ jmV ahm h¡ Am¡a 

ahZm Mm{hE&  
c) B©î¶m© H$s ~S>r ~oQ>r H$m Zm‘ qZXm h¡& Omo ì¶{º$ B©î¶m©bw hmoVm h¡, dhr ì¶{º$ ~wao {H$ñ‘ H$m {ZÝXH$ ^r 

hmoVm h¡& 
i) eV ‘| IwX AnZo H$m‘ H$m ZwH$gmZ H$aZo Amn H$mo H¥$VmW© H$aZo Am¶o h¡, CÝho ³¶m ‘mbw‘ CZHo$ 

H$maU {hÝXr H$m ^ÊS>ma {H$VZo aËZm| go d§{MV ah OmVm h¢& 
   

SECTION – B 

 

Q2) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) B©î¶m© Vw ZJ¶r ‘oao ‘Zgo& 
  b) H${d Am¡a H${dVm& 
 

Q3) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) A{V{W& 
  b) ZrbmH$mÝV& 
 

Q4) {H$gr EH$ H$hmZr> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

  a) CgZo H$hm Wm& 
  b) amoO& 
 

Q5) ì¶m¶m‘ H$m ‘hËd ~VmVo hþE& CgZo N>moQ>o ^mB© H$mo nÌ {b{IE& (10) 

(AWdm) 
  AnZr ~hZ H$s emXr na AnZo {‘Ì H$mo Am‘§{ÌV H$aVo hþE EH$ nÌ {b{IE& 
 



    

 
Q6) {H$Ýhr Xmo àíZmo§ H$m Odm~ Xg n{º$¶m| ‘| {b{IE& (2 × 3 = 6) 

  a) bhZ qgh H$m M[aÌ {MÌU H$s{OE& 
  b) “‘mbVr” H$m M[aÌ {MÌU H$s{OE& 
  c) “em‘ZmW” H$m M[aÌ {MÌU H$s{OE& 
  d) “J§Jr” H$m M[aÌ {MÌU H$s{OE& 
  
Q7) g~ àíZm| H$m {bIZm A{Zdm¶© h¢& (10 × 2 = 20) 

  a) goR> gãOr ~oMVm h¡& ({b§J ~XbH$a {b{IE&) 
  b) ~ƒm ñHy$b OmVm h¡& (dMZ ~XbH$a {b{IE&) 
  c) grVm Zo {H$Vm~ nS>r& (dmÀ¶ ~XbH$a {b{IE&) 
  d) grVm Zo JrV Jm¶m& (^{dî¶V H$mb ‘| {b{IE&) 
  e) Vw‘ {hÝXr grIZm Mm{hE& (dm³¶ ewÕ H$s{OE&) 
  f) {H$Vm~ ‘oO ---------- h¡ (H$maH$ {MÝh {b{IE&) 
  g) am‘Zo J¶m& (ewÕ H$s{OE&) 
  h) bS>H$m nmR>embm OmVm h¡& ŷV H$mb ‘| {b{IE) 
  i) ~mOma ‘| nwê$f Om aho h¢& (dMZ ~X{bE&) 
  j) Station (B©g eãX H$m AW© {hÝXr ‘| {b{IE&) 
   
Q8) {H$Ýht Xmo eãXm| H$m AW© {hÝXr ‘| {bIH$a dm³¶m| ‘| à¶moJ H$s{OE& (2 × 2½ = 5) 

a) {Zñg§Xoh& 
b) CWb-nwWb& 
c) bmoH$ ^mfm& 
d) ‘ygbmYma& 
e) ~mXemh& 
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                                              SECTION-A                                   (2 x 13 = 26) 

Answer any two questions in this section each in about 60 lines 

 

Q1) Explain the administrative system of Mauryas. 

 Ð@þ◊Ææÿ$ÅË ç³Ç´ëË¯é ç³§æþ®†° ÑÐ@þÇ…ç³#Ð@þ¬. 

Q2) Discuss the role of Gandhi in the struggle for freedom of India. 

 ¿êÆæÿ™èþ ÝëÓ™èþ…{™øÅ«§æþÅÐ@þ¬ÌZ V>…«© ´ë{™èþ¯@þ$ è̂þÇa…ç³#Ð@þ¬. 

Q3) Write about the life of Buddha and his teachings. 

 º$§æþ$®° iÑ™èþ… Ð@þ$ÇÄ¶ý¬ »Z«§æþ¯@þË$ Væü*Ça {ÐéÄ¶ý$…yìþ. 

Q4) Assess the contribution of Pallavas to art and architecture. 

 ÕËµMæüâ¶ý ÐéçÜ$ °Æ>Ã×ýÐ@þ¬ËMæü$ ç³ËÏÐ@þ#Ë$ ^óþíÜ¯@þ Mæü–íÙ° A… è̂þ¯é ÐóþÄ¶ý¬Ð@þ¬. 

Q5) Examine the administrative system of Akabar. 

 AMæü¾Ææÿ$ ç³Ç´ëË¯é Ñ«§é¯@þÐ@þ¬¯@þ$ ç³È„ìü…ç³#Ð@þ¬. 

Q6)  Explain Kautilyan conception of state and king. 

 MúsìýË$Å° íÜ§é…™èþ… {ç³M>Ææÿ… Æ>fÅ… Ð@þ$ÇÄ¶ý¬ Æ>k Ñ«§æþ$Ë$ ÑÐ@þÇ… è̂þ…yìþ. 

   

SECTION - B                                   (3 x 4 = 12) 

Write short notes on any THREE of the following questions 

 

Q7) Gandhara art. 

 V>…«§éÆæÿ Mæüâ¶ý. 

 



Q8) Dayananda Saraswati. 

 §æþÄ¶ý*¯@þ…§æþ çÜÆæÿçÜÓ†. 

Q9) Sufism. 

 çÜ*íœ Ð@þ$™èþÐ@þ¬. 

Q10) Ashtadiggajas. 

 AçÙt ¨VæüYfÐ@þ¬Ë$. 

Q11) Eradication of untouchability. 

 A…rÆ>° ™èþ¯@þÐ@þ¬ °Ææÿ*ÃË¯@þ. 

Q12) Raja Ram Mohan Roy. 

 Æ>gê Æ>ÐŒþ$ Ððþ*çßý¯Œþ Æ>ÄŒý$. 

Q13) Caste System. 

 Mæü$Ë Ð@þÅÐ@þçÜ¦. 

Q14) Chola Village Administration. 

 ^øâ¶ý$Ë “V>Ð@þ$ ´ëË¯@þ. 

SECTION - C                                             (12) 

Answer all questions 
Q15) Fill up the blanks. 

a) The earlier name of Jaina sect was _________. 

Ogñý¯@þÐ@þ$™èþÐ@þ¬ ç³NÆæÿÓ ¯éÐ@þ$Ð@þ¬ _________. 

b) The Military campaigns of Samudragupta are Mentioned in _________. 

çÜÐ@þ¬{§æþVæü$ç³#¢° OòÜ°Mæü ÑfÄ¶ý*Ë¯@þ$ _________ ÌZ{ç³Ýë¢Ñ… è̂þºyìþ…¨. 

c) Brahma Samaj was started by _________. 

{ºçßýÃçÜÐ@þ*fÐ@þ¬¯@þ$ {́ ëÆæÿ…À…_ @̄þ¨ _________. 

d) “Quit India” movement was started in _________. 

MìüÓsŒý C…yìþÄ¶ý* E§æþÅÐ@þ$Ð@þ¬¯@þ$  _________ ÌZ {́ ëÆæÿ…À…_Ç. 

 

Q16) Choose the correct answer: 

 çÜÇOÄñý$¯@þ çÜÐ@þ*«§é¯@þÐ@þ¬¯@þ$ Væü$Ç¢… è̂þ$Ð@þ¬: 



a) Mahabalipuram is well known for the temples and sculptures of ( ) 
i) Rayas of Vijayanagar ii) Chalukyas 

iii)  Cholas  iv) Pallavas 

ÑÇ M>ËÐ@þ¬ ¯ésìý §óþÐéËÄ¶ý*Ë$, ÕÌêµË$ Ð@þË¯@þ Ð@þ$çßýºÍç³#Ææÿ… A™èþÅ…™èþ {ç³íÜ¨® ð̂þ…¨…¨. 

i) ÑfÄ¶ý$¯@þVæüÆæÿ Æ>kË$ ii) ^éâ¶ý$Mæü$ÅË$ 
iii)  ^øâ¶ý$Ë$  iv) ç³ËÏÐ@þ#Ë$ 

b) During whose resign the Mahayana Parishat was presided by Hieun Tsang at 

Kanuj? ( ) 
i) Chandragupta ii) Prabhakara Vardhana 

iii)  Harsha  iv) Sasanka 

GÐ@þÇ Æ>fÅ ´ëË¯é M>Ë…ÌZ Mæü¯úgŒý Ð@þ§æþª çßý*ÅÄ¶ý$¯Œþ™éÞ…VŠü Ð@þ$çßýÄ¶ý*¯@þ ç³ÇçÙ™èþ$¢Mæü$ A«§æþÅ„æü 
Ð@þíßý…^éyæþ$? 

i) Æðÿ…yæþÐ@þ è̂þ…{§æþVæü$ç³#¢yæþ$ ii) {ç³¿êMæüÆæÿ Ð@þÆæÿ®̄ @þ$yæþ$ 

iii)  çßýÆæÿ$Ûyæþ$  iv) Ô¶ýÔ>…Mæü$yæþ$ 
c) The Mughal Emperor who made Persian as the court language was ( ) 

i)   Jhangir  ii) Shahjahan 

iii)  Aurangajeb iv) Akbar 

ç³ÇÛÄ¶ý$¯Œþ ¿êçÙ¯@þ$ MøÆæÿ$t ¿êçÙV> ó̂þíÜ¯@þ Ððþ¬çœ$Ë$ Æ>k 

i) fçßý…XÆæÿ$ ii) Úëfçßý¯@þ$ 
iii)  LÆæÿ…Væügôýº$ iv) AMæü¾Ææÿ$ 

d) Mantras and Tantras are present in  ( ) 

i) Atharvana veda ii) Samaveda 

iii)  Yajurveda iv) Rg Veda 

Ð@þ$…{™èþ ™èþ…{™éË$ ÒsìýÌZ MæüËÐ@þ# 

i) A«§æþÆæÿÓ¯@þ Ðóþ§æþ ii) ÝëÐ@þ$Ðóþ§æþ 
iii)  Ä¶ý$kÆóÿÓ§æþ iv) Ææÿ$VóüÓ§æþ 

Q17) Match the following: 

a) Dholavira  i) Brihat samhita 

b) Divyavadana ii) Susruta samhita 

c) Amulktamalyada iii) Harappa culture 

d) Varahamihira iv) Krishnadevaraya 

    v) Buddist text 
    vi) Jain text 



 “Mìü…¨ Ðésìý° f™èþç³Ææÿ$aÐ@þ¬: 

a) ÉøËÒÆæÿ   i) º–çßý™ŒþçÜ…íßý™èþ 
b) ¨ÐéÅÐ@þ§é¯@þ  ii) çÜ${çÜ$™èþ çÜ…íßý™èþ 
c) BÐ@þ¬Mæü¢Ð@þ*ËÅ§æþ iii) çßýÆæÿç³µ çÜ…çÜP –† 

d) Ð@þÆ>çßýÑ$íßýÆæÿ iv) Mæü–çÙ~§óþÐ@þÆ>Ä¶ý$Ë$ 
    v) »o§æþªÐ@þ$™èþ “Væü…£æþÐ@þ¬ 

    vi) Ogñý¯@þÐ@þ$™èþ “Væü…£æþÐ@þ¬ 

 

� � � 
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B.A./B.Sc. DEGREE EXAMINATION, DEC. – 2016 

First Year 

MATHEMATICS - I 

Dif. Equ., Abs. Alg. & Vec. Calculus 

Time : 3 Hours   Maximum Marks: 70 

                            SECTION - A        

      Answer all questions 

       All questions carry equal marks  (8 × 3 = 24) 

 

Q1) Solve xdx + ydy + 
�������
�����  = 0 

 xdx + ydy + 
�������
�����  = 0 Ýë«̈ … è̂þ…yìþ. 

  

Q2) Solve y
2
 log y = xpy + p

2
 ¯@þ$ Ýë«̈ … è̂þ…yìþ. 

 

Q3) Solve (D
4
 −2D

3
 + 2D

2
 – 2D + 1)y = 0 @̄þ$ Ýë«̈ … è̂þ…yìþ. 

 

Q4) Solve (D
2
 – 3D + 2)y = cos hx @̄þ$ Ýë«̈ … è̂þ…yìþ. 

   
Q5) State and prove Lagrange’s theorem for finite groups. 

 ç³ÇÑ$™èþ çÜÐ@þÊàËMæü$ Ìñý“V>…gŒý íÜ§é®…™é°² {ç³Ð@þ_…_, °Ææÿ*í³… è̂þ…yìþ. 
                     

Q6)  Show that a finite semi group (G, )⋅ satisfying the cancellation laws in a group. 

 JMæü ç³Ç×ìý™èþ Eç³çÜÐ@þÊçßý… (G, )⋅  M>°ÞÌôýçÙ¯Œþ çÜ*{™èþÐ@þ¬ Ð@þÇ¢çÜ$¢…§æþ° è̂þ*ç³…yìþ. 
 

Q7) If 	̅ = �
 + 1� i +	�
� + 	
 + 1� j + �
� +	
� + 	
 + 1���	 then find 
��
�� ,

���
��� ,  

������ , �
���
����, at t = 1. 

	̅ = �
 + 1� i +	�
� + 	
 + 1� j + �
� +	
� + 	
 + 1��� AÆÿ¬™óþ ���� ,
���
���, ������ , �

���
����	 

ÑË$Ð@þË¯@þ$ t = 1 Ð@þ§æþª Mæü¯@þ$MøP…yìþ. 
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Q8) Find the unit normal vector of the plane �� +	�� +	�� + 	3��� = 4  at                       

(1, –2, –1). 

 ¼…§æþ$Ð@þ# (1, – 2, – 1) Ð@þ§æþª �� +	�� +	�� + 	3��� = 4	 ™èþÌê°Mìü Ä¶ýÊ°sŒý çÜ¨Ô¶ý 
AÀË…»ê°² Mæü¯@þ$MøP…yìþ. 

             SECTION - B        

                                               Answer all questions                          (4 × 11½ = 46) 

All questions carry equal marks 

 

Q9)a) i) Solve ��� + 1� cos x dx + e
y
 sin x dy = 0 ¯@þ$ Ýë«̈ … è̂þ…yìþ. 

  ii) Solve � � + ��� � − �� = 2  ¯@þ$ Ýë«̈ … è̂þ…yìþ. 

OR 

     b) i) Solve �1 +	���"� = (Tan
-1

 y + x) dy @̄þ$ Ýë«̈ …ç³#Ð@þ¬. 

  ii) Solve 
��
��# =	 ��#�� =	 �#

��� ¯@þ$ Ýë«̈ …ç³#Ð@þ¬. 

 

Q10)a) i) Solve (D
2
 – 4D + 3)y= sin 3x cos2x @̄þ$ Ýë«̈ …ç³#Ð@þ¬. 

  ii) Solve  (D
4
 + 2D

2
 + 1)y = x

2
 cos x @̄þ$ Ýë«̈ …ç³#Ð@þ¬. 

OR 

       b) i) Solve (D
2
 + a

2
)y = tan ax by the method of variation of parameters. 

   (D
2
 + a

2
)y = tan ax  @̄þ$ ç³Æ>Ñ$¡Ä¶ý$ Ð@þ*Ææÿ$µ ç³§æþ®† §éÓÆ> Ýë«̈ … è̂þ…yìþ. 

  ii) Solve 
��
�� = �, ���� = 3� − 2� AÐ@þMæüË¯@þ çÜÒ$MæüÆæÿ×êË¯@þ$ Ýë«̈ … è̂þ…yìþ. 

 

Q11)a) i) If G is a group of even order, prove that it has an element $	 ≠ �         

satisfying $� = �.  



  G  A¯óþ¨ çÜÇ ç³ÇÐ@þ*×ý… VæüË çÜÐ@þÊçßýÐ@þ¬ AÆÿ¬™óþ $	 ≠ � ∈G AÐ@þ#™èþ* $� = �  
AÄôý$Å Ñ«§æþ…V> ‘G’ JMæü Ð@þÊËMæüÐ@þ¬ Ð@þÓÐ@þíÜ¦™èþÐ@þ$Væü$¯@þ° è̂þ*ç³#Ð@þ¬. 

  ii) State and prove Cayley’s theorem in groups. 

    çÜÐ@þÊàËOò³ MðüÆÿ¬Í íÜ§é®…™é°² {ç³Ð@þ_…_, °Ææÿ*í³… è̂þ…yìþ. 

OR 

 

  b) i) If H and K are two subgroups of a group G, then HK is a subgroup of G iff 

HK = KH. 

   G çÜÐ@þÊà°Mìü H, K Eç³çÜÐ@þÊàË° A¯@þ$Mø…yìþ. Aç³šyæþ$ G Mìü HK 

Eç³çÜÐ@þÊçßý… ⇔HK = KH 

  ii) State and prove fundamental theorem of homomorphism of groups 

   ‘çÜÐ@þ$Ææÿ*ç³™é Ð@þÊË íÜ§é®…™èþ…’ °ÆæÿÓ_…_, °Ææÿ*í³… è̂þ…yìþ. 

 

Q12)a) i) If f = xy
2
i + 2x

2
yzj – 3yz

2
 k find 

1) div f 

2) curl f 

at the point (1, −1, 1). 

     f = xy
2
i + 2x

2
yzj – 3yz

2
 k  AÆÿ¬¯@þ (1, −1, 1) Ð@þ§æþª  

  

1) div f 

2) curl f 

Mæü¯@þ$Vö¯@þ…yìþ. 

  ii) Find constants a, b, c so that the vector A = (x+2y+az)i +                                 

(bx −3y −z)j + (4x + cy + 2z)k is irrotational. 



   A = (x + 2y + az)i + (bx −3y −z)j + (4x + cy + 2z)k A¯óþ¨ {¿¶ýÐ@þ$×ý Ææÿíßý™èþ 

çÜ¨Ô¶ý AÄôý$Årr$Ï íÜ¦ÆæÿÆ>Ô¶ý$Ë$ a, b, c  Ë$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

OR 

 

b)   i) Apply Gauss divergence theorem to evaluate ( )
s

x z dydz+ +∫∫     

( )y z dzdx+ ( )x y dxdy+ +  where ‘S’ is the surface of the sphere x
2
 + y

2
 + 

z
2
 = 4. 

  V>‹Ü AÐ@þçÜÆæÿ×ý íÜ§é®…™é°² Eç³Äñý*W…_ ( )
s

x z dydz+ +∫∫ ( )y z dzdx+

( )x y dxdy+ +  ÑË$Ð@þ¯@þ$ Æ>ºrt…yìþ. C è̂þar x
2
 + y

2
 + z

2
 = 4 Vøâ¶ý Eç³Ç™èþËÐ@þ¬ 

‘S’ AÐ@þ#™èþ$…¨. 

  ii) Find the angle between the surfaces x
2
 + y

2
 + z

2
 = 9 and x

2 
+ y

2
 − z = 3 at 

(2, −1, 2). 

   (2, −1, 2) Ð@þ§æþª x2
 + y

2
 + z

2
 = 9; x

2 
+ y

2
 − z = 3 ™èþÌêË Ð@þ$«§æþÅ Mø×ê°² Mæü¯@þ$MøP…yìþ. 

 

� � � 
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Mechanics, Waves & Oscillations 
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SECTION - A                                    

                                     Answer any two of the following   (2 × 7½ = 15) 

 

 

Q1) State and prove Gauss divergence theorem and Stokes theorem. 

 V>‹Ü Aç³çÜÆæÿ×ý íÜ§é®…™èþÐ@þ¬ Ð@þ$ÇÄ¶ý¬ ÝùtMŠüÞ íÜ§é®…™é°² ™ðþÍí³ °Ææÿ*í³… è̂þ$Ð@þ¬. 

   

Q2) Derive an equations for the final velocities of particles in two dimensional               

elastic collision. 

 íÜ¦† Ýë¦ç³Mæü ¨ÓÑ$¡Ä¶ý$ AÀçœ*™èþ…ÌZ HÆæÿµyóþ ™èþ$¨ ÐóþV>Ë¯@þ$ ™ðþÍõ³ çÜÒ$MæüÆæÿ×êË¯@þ$ 
E™éµ̈ … è̂þ$Ð@þ¬. 

 

Q3) Explain the working of a gyroscope with necessary theory. 

 ™èþW¯@þ íÜ§é®…™èþÐ@þ¬™ø OVðüÆøÝùPç³# ç³° ^óþÄ¶ý¬ Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

Q4) State the postulates of special theory of relativity. Derive the Lorentz                         

transformation equation. 

 {ç³™óþÅMæü Ýëõ³„æü íÜ§é®…™èþÐ@þ¬ Äñý¬MæüP {́ ëçÜ´ë¢Ë¯@þ$ ÑÐ@þÇ…_ ÌêÆðÿ…sŒýj Ææÿ*´ë…™èþÆæÿ çÜÒ$MæüÆæÿ×êË¯@þ$ 
Æ>ºr$tÐ@þ¬. 

SECTION - B                                    

                                     Answer any two of the following   (2 × 7½ = 15) 
 

Q5) Define simple harmonic motion. Obtain the equation of motion of a simple     
harmonic oscillator and solve it. 

 çÜÆæÿâ¶ýçßýÆ>™èþÃMæü è̂þË¯@þÐ@þ¬¯@þ$ °ÆæÿÓ_… è̂þ$Ð@þ¬. çÜÆæÿâ¶ý yøË° VæüÐ@þ$¯@þ çÜ*{™é°² E™éµ̈ …_ §é° 
ç³ÇÚëPÆ>°² Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
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Q6)  Derive the differential equation of a forced damped oscillator and obtain its       

solution. 

 AÐ@þÆæÿ$§æþ® çßýÆ>™èþÃMæü yøË° çÜÒ$MæüÆæÿ×ê°² Æ>ºsìýt §é° ç³ÇÚëPÆ>°² Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

 

Q7) State and prove Fourier theorem. 

 çœ#ÇÄñý* íÜ§é®…™é°² ™ðþÍí³ °Ææÿ*í³… è̂þ…yìþ. 

 

Q8) Explain the method of producing ultrasonic by the piezoelectric method. 

 ï³yæþ¯@þ Ñ§æþ$Å™Œþ çÜµsìýM>Ë¯@þ$ç³Äñý*W…_ A†«§æþÓ¯@þ$Ë¯@þ$ E™èþµ†¢ ó̂þõÜ Ñ«§é¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

SECTION - C                                    

                                     Answer any five of the following   (5 × 4 = 20) 
 

 

Q9) Explain the motion of a rocket. 

 Æ>MðüsŒý VæüÐ@þ$¯é°² ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

Q10) Define elastic and inelastic collision with examples. 

 E§éçßýÆæÿ×ýÐ@þ¬Ë™ø íÜ¦† Ýë¦ç³Mæü Ð@þ$ÇÄ¶ý¬ AíÜ¦†Ýë¦ç³Mæü AÀçœ*™éË¯@þ$ °ÆæÿÓ_… è̂þ$Ð@þ¬. 

 

Q11) Define various elastic moduli. 

 ÑÑ«§æþ ÆæÿM>Ë íÜ¦™èþÝë¦ç³Mæü Væü$×ýM>Ë¯@þ$ °ÆæÿÓ_… è̂þ$Ð@þ¬. 

 

Q12) Explain time dilation. 

 M>Ë ÐéÅMø è̂þÐ@þ¬¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

Q13) Derive – mass – energy equivalence equation. 

 {§æþÐ@þÅÆ>Õ & Ô¶ýMìü¢ çÜÒ$MæüÆæÿ×ê°² Æ>ºr$tÐ@þ¬. 
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Q14) Explain Quality factor and sharpness of resonance. 

 Væü$×ý¿êfMæü… {ç³Ðóþ$Ä¶ý$… Ð@þ$ÇÄ¶ý¬ A¯@þ$¯é§æþ ç³§æþ$¯@þ$™èþ¯@þ… Òsìý° ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 

Q15) Derive eqation for the energy transport in a string. 

 ¡VæüÌZ Ô¶ýMìü¢ ÆæÿÐé×ê çÜ…º…«̈ …_¯@þ çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ Æ>ºr$tÐ@þ¬. 

 

Q16) Explain Magnetostriction. 

 AÄ¶ý$ÝëP…™èþ ÑÆæÿ*ç³×ý A¯@þV> ÑÐ@þÇ… è̂þ$Ð@þ¬. 
 

SECTION - D                                    

                                     Answer any four of the following   (4 × 5 = 20) 
 

Q17) Prove ( ) 0∇ ∇×∇ = A° è̂þ*ç³…yìþ. 
 

Q18) 10,000 kg mass of a rocket contains 30,000 kg mass of fuel. If the exhaust                     

velocity of its gases is 2 km/s. Calculate the maximum velocity of the that can be 
attained by the rocket. 

 10,000 kg {§æþÐ@þÅÆ>Õ VæüË Æ>MðüsŒýÌZ 30,000 kg {§æþÐ@þÅÆ>Õ VæüË C…«§æþ¯@þÐ@þ¬ E¯@þ²¨. ºíßýÆæÿY™èþ 
ÐéÄ¶ý¬Ð@þ#Ë ºíßý{ÝëÐ@þ ÐóþVæüÐ@þ¬ 2 km/s AÆÿ¬ @̄þ Æ>MðüsŒý ´÷…§æþVæüÍVóü VæüÇçÙx ÐóþVæüÐðþ$…™èþ? 

 

Q19) From the given data calculate the angular momentum and angular kinetic               

energy of the earth while spinning  

  Mass of the earth = 6.0 × 10
24

 kg 

  Radius of the earth = 6.4 × 10
3
 km. 

 C_ā @þ §æþ™é¢…Ô¶ý… ¯@þ$…yìþ ¿¶ý*Ñ$ B™èþÃ{¿¶ýÐ@þ$×ýÐ@þ¬ Äñý¬MæüP Mø×îýÄ¶ý$ {§æþÐ@þÅÐóþVæüÐ@þ¬, Ð@þ$ÇÄ¶ý¬ 
Mø×îýÄ¶ý$ Væü†fÔ¶ýMæü$¢Ë¯@þ$ ÌñýMìüP… è̂þ$Ð@þ¬. 

 

Q20) Cross sectional area of a steel wire is 1cm
2
 and its coefficient of young’s            

modulus is 2 × 10'' N/m
2
. How amount of force is to be applied to double its 

length. 



 JMæü ïÜtË$ ¡Væü Ð@þ$«§æþÅ ó̂þe§æþ OÐðþÔ>ËÅ… 1cm
2
, §é° Ä¶ý$…VŠüVæü$×ýMæü… 2 × 10'' N/m

2 ¡Væü ´÷yæþÐ@þ# @̄þ$ 
Æðÿsìýt…ç³# ^óþÄ¶ý¬rMæü$ {ç³Äñý*W… è̂þÐ@þËíÜ¯@þ ºËÐðþ$…™èþ? 

 
Q21) If the sun radiates 4 × 10

26
 Joule/s of energy, then at what rate its mass is                   

decaying. 

 çÜ*Ææÿ$Åyæþ$ JMæü òÜMæü¯@þ$Mæü$ 4 × 10
26

 Joules/s ^öç³š¯@þ Ô¶ýMìü¢° ÑMìüÆæÿ×ý… ^óþçÜ$¢̄ @þ²̂ ø çÜ*Ææÿ$Å° 
{§æþÐ@þÅÆ>Õ H Æóÿr$¯@þ „îü×ìýçÜ$¢…¨. 

 

Q22) From the earth a space ship of 10m long in travelling with a velocity of 10
8
m/s. Find 

its relative length. 

 10Ò$. ´÷yæþÐ@þ#VæüË A…™èþÇ„æü¯úMæü ¿¶ý*Ñ$ ¯@þ$…yìþ 10
8
m/s ÐóþVæü…™ø {ç³Ä¶ý*×ý… ^óþíÜ¯@þ §é° Ýëõ³„æü 

´÷yæþÐ@þ# G…™èþ? 
 
Q23) A piezoelectric X-cut quartz has a thickness 0.002m. The velocity of sound waves 

in the crystal is 5750 m/s. Calculate the fundamental frequency of the             
ultrasonic waves produced. 

 JMæü X-Q…yìþ™èþ ï³yæþ¯@þ Ñ§æþ$Å™Œþ M>ÓÆŠÿt›j çÜµsìýMæü… Äñý¬MæüP Ð@þ$…§æþÐ@þ¬0.002m çÜµsìýMæü…ÌZ E™èþµ†¢ 
AÄôý$Å «§æþÓ° ÐóþVæü… 5750 m/s AÆÿ¬™óþ, E™èþµ†¢ AÆÿ¬ @̄þ A† «§æþÓ¯@þ$Ë {́ ë£æþÑ$Mæü ´û¯@þ]ç³#¯@þÅÐ@þ¬¯@þ$ 
ÌñýMìüP… è̂þ$Ð@þ¬.  

 
Q24) If a 0.5m long steel wire having 1mm cross-sectional area and density 7860 kg/m

3
 

vibrates with a frequency 512 Hz. Calculate the tension in the wire. 

  JMæü Ñ$.Ò$. ÐéÅçÜÐ@þ¬, 0.5m  ´÷yæþÐ@þ#, 7860 kg/m
3
 Ýë…{§æþ™èþ VæüË ïÜtÌŒý ¡Væü 512 çßýÆŠÿjË 

´û @̄þ]ç³#¯@þÅ…™ø Mæü…í³…_¯@þ^ø B ¡Væü Äñý¬MæüP ™èþ¯@þÅ™èþ¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
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Answer any Five  Questions. 

All questions carry equal marks. 

 

Q1)  a) Calculate the RMS voltage for a given sinusoidal wave. Define electric     

current. 

 b) Explain phasor notation. Define electric field and potential. 

 

Q2) a) Explain for energy stored in an inductor. What is inductive susceptance. 

 b) What are the types of inductors. Explain. 

 

Q3) a) What are the different types of capacitors. Explain. 

 b) Derive and expression for voltage – current relationship through an ideal 

capacitor. 

 

Q4) a) What is the concept of impedance and admittance.  

 b) Solve for a single source network using substition method. 
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Q5) State and prove nortons theorem and Millimans theorem.    

Q6) What is transient condition. Explain the transient response of RC circuits with time 

constants.   

Q7) Discuss the frequency response of RC and RL circuits. 

 

Q8)  Distinguish between series and parallel resonance obtain the conditions for          

resonance using series resonance also calculate bandwidth and Q - factor. 

 

Q9)  Explain the working of Bridge T, and T win T networks. 

 

Q10)  Explain the working of Anderson’s Bridge and AC Wheatstone bridge . 
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